<>

ERURAGBIETRBRRF (BER, Bk

Metallized polypropylene film capacitor for
lamps(Round shape, Anti-explosion)

M 5MEE Outline Drawing

Mounting bolt

|13%1 [ H
W s B Features
EERERRE, FERTFHIDTENMSERL. The capacitors are designed specifically for HID Lighting

WAT. ERBEARKTF

AR RERE AL 90°C

applications where the capacitors are used as part of the ballast
circuit for high-pressure mercury vapor lamps, sodium vapor lamps,
and metal halide lamps

The temperature on capacitor surface is admitted to reach 90°C

AN ANMET RGN, Re0% The capacitor is of internal mechanical explosion-proof structure,

B L 2iAiE Safety Approvals

safe and reliable

cQcC
® )

GB/T 18489-2008, type B, 4.0uF~50F, 540Vac, 50Hz/60Hz, -40°C/90°C
JE42 (Certificate No.):CQC11004066550

uL
® GNUS (EE/MEX)

UL810, CSA €22.2 N0.190, max.540Vac, 50Hz/60Hz, “Protected” , 10 000AFC, max.90°C
JEH S (File No.):E232771, CCN:CYWT2/8

B FHARER Specifications

5| F+x# Reference Standard

GB/T 18489-2008(IEC 61048:2006)
GB/T 18504-2001 (IEC 61049:1991)

FEHE Rated Voltage (Un)

280Vac, 300Vac, 400Vac, 480Vac, 540Vac, 600Vac

#ESNZE Rated Frequency (fn)

50Hz/60Hz

X E58E Capacitance Range (Cn)

4.0pF ~ 100.0pF

HEAERE Capacitance Tolerance

+3%(H), £5%(J), +10%(K)

PERSRE (BRARETHZE, t)

Rated Max. Temperature (on capacitor surface, t.) 0°c

S1%2%5) Climatic Category 40/90/21

HRELF Type Type B (self-healing capacitor)
SN 2A! Case Aluminum

%% Condensation

Not permitted

T EEJE (5|22 [8]) Test Voltage Between Terminals 2Un, 2s

it JE ($R 7= 2 [8]) Test Voltage Between Terminals to Case | 3 000Vac, 60s (max. leakage current: 0.5mA)

== L{EEE Max. OperatingVoltage 1.1Un

£ % Rated Current (ln) 21tf,CaUn X 10°° (A)(Unit of Cn: uF)

= AT{EHR Max. Operating Current 1.3l

INFEBFIPE SR Degree of protection IPOO

E#kimT Terminals Push in connector or insulated wires

== fEMAER MaxAltitude 2000m

2% 5wz Terminal form i NAMP250#%&i4134 Tabs type three AMP250# per side
Installation 2#HA Fixed style JREBIZH Bottom-bolt | M8X10(D<50) | M10Xx12(D=55) | M12X16(D=60)
BAZREHSE Max.Torque of Installation 5N-m(M8) | 8N-m(M10) | 10N-m(M12)

206




B ~R4%EHE  Part number system
15 (A= AR :
The 15 digits part number is formed as follow:
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15

lelefef{ [ [ [ [ [ [ [ [ [ [ [ |

F1~340 HESREG Digit 1to 3
C6B

BAa5HL RRFEHRE Digit4to5
P3=280V R1=330V G2=400V
$3=480V T1=540V U1=600V

Eo8L IMEE Digit6to 8
££45): 505=50 X 10°pF=5.0F

9L BRERE Digit 9
H=13%, J=15%, K=£10%

5 10~15 i PIER4SERD Digit 10 to 15

Series code

ce6B

AC rated voltage

P3=280V R1=330V G2=400V
S3=480V T1=540V U1=600V

Rated capacitance value

for example: 505=50 X 10°pF=5.0uF
Capacitance tolerance
H=13%, J=15%, K=+ 10%

Internal use

207



<>

B $MEZRsH Dimensions(mm)

280Vac 330Vac
C.| D H P |Mounting| Discharge Part number C. [ D H P |Mounting| Discharge Part number
(WF) [£2.0(£3.0/+1.0] bolt resistor (uF)|£2.0|%3.0{£1.0] bolt resistor

4 40 | 60 16 M8x10 |0.5W, 0.82MQ | C6BP3405-****** 4 40 60 16 M8x10 |0.5W, 0.82MQ | C6BR1405-******

5 40 | 60 16 M8x10 |0.5W, 0.82MQ | C6BP3505-****** 5 40 60 16 M8x10 |0.5W, 0.82MQ | C6BR1505-******

6 40 | 60 16 M8x10 |0.5W, 0.82MQ | C6BP3605-****** 6 40 60 16 M8x10 |0.5W, 0.82MQ | C6BR1605-******

7 40 | 60 16 M8x10 |0.5W, 0.82MQ | C6BP3705-****** 7 40 60 16 M8x10 |0.5W, 0.82MQ | C6BR1705-******

8 40 | 60 16 M8x10 |0.5W, 0.82MQ | C6BP3805-****** 8 40 60 16 M8x10 |0.5W, 0.82MQ | C6BR1805-******

9 40 | 60 16 M8x10 |0.5W, 0.82MQ | C6BP3905-****** 9 40 60 16 M8x10 |0.5W, 0.82MQ | C6BR1905-******
10 | 40 | 60 16 M8x10 |0.5W, 0.82MQ | C6BP3106-****** 10 | 40 60 16 M8x10 |0.5W, 0.82MQ | C6BR1106-******
11 40 60 16 M8x10 |0.5W, 0.82MQ | C6BP3116-****** 11 40 60 16 M8x10 |0.5W, 0.82MQ | C6BR1116-******
12 40 60 16 M8x10 |0.5W, 0.82MQ | C6BP3126-****** 12 40 60 16 M8x10 |0.5W, 0.82MQ | C6BR1126-******
13 | 40 | 60 16 M8x10 |0.5W, 0.82MQ | C6BP3136-****** 13 | 40 60 16 M8x10 |0.5W, 0.82MQ | C6BR1136-******
15 | 40 | 60 16 M8x10 |0.5W, 0.82MQ | C6BP3156-****** 15 | 40 60 16 M8x10 |0.5W, 0.82MQ | C6BR1156-******
16 | 40 | 60 16 M8x10 |0.5W, 0.82MQ | C6BP3166-****** 16 | 40 60 16 M8x10 |0.5W, 0.82MQ | C6BR1166-******
18 | 40 | 60 16 M8x10 |0.5W, 0.82MQ | C6BP3186-****** 18 | 40 75 16 M8x10 |0.5W, 0.82MQ | C6BR1186-******
20 | 40 | 60 16 M8x10 |0.5W, 0.82MQ | C6BP3206-****** 20 | 40 75 16 M8x10 |0.5W, 0.82MQ | C6BR1206-******
22 45 60 18 M8x10 |0.5W, 0.82MQ | C6BP3226-****** 22 40 75 16 M8x10 |0.5W, 0.82MQ | C6BR1226-******
24 | 45 60 18 M8x10 |0.5W, 0.82MQ | C6BP3246-****** 24 40 75 16 M8x10 |0.5W, 0.82MQ | C6BR1246-******
26 | 45 | 60 18 M8x10 |0.5W, 0.82MQ | C6BP3266-****** 26 | 45 75 18 M8x10 |0.5W, 0.82MQ | C6BR1266-******
28 | 40 | 75 16 M8x10 |0.5W, 0.82MQ | C6BP3286-****** 28 | 45 75 18 M8x10 |0.5W, 0.82MQ | C6BR1286-******
29 | 40 | 75 16 M8x10 |0.5W, 0.82MQ | C6BP3296-****** 29 | 45 75 18 M8x10 |0.5W, 0.82MQ | C6BR1296-******
30 | 40 | 75 16 M8x10 |0.5W, 0.82MQ | C6BP3306-****** 30 | 45 75 18 M8x10 |0.5W, 0.82MQ | C6BR1306-******
32 45 75 18 M8x10 |0.5W, 0.82MQ | C6BP3326-****** 32 45 75 18 M8x10 |0.5W, 0.47MQ | C6BR1326-******
35 |45 | 75 18 M8x10 |0.5W, 0.47MQ| C6BP3356-****** 28 | 40 | 100 | 16 M8x10 |0.5W, 0.82MQ | C6BR1286-******
38 | 45 | 75 18 M8x10 |0.5W, 0.47MQ | C6BP3386-****** 29 | 40 | 100 | 16 M8x10 |0.5W, 0.82MQ | C6BR1296-******
42 45 75 18 M8x10 |0.5W, 0.47MQ | C6BP3426-****** 30 40 | 100 | 16 M8x10 |0.5W, 0.82MQ | C6BR1306-******
46 50 75 18 M8x10 |0.5W, 0.47MQ | C6BP3466-****** 32 40 | 100 | 16 M8x10 |0.5W, 0.47MQ | C6BR1326-******
42 40 | 100 | 16 M8x10 |0.5W, 0.47MQ | C6BP3426-****** 35 50 75 18 M8x10 |0.5W, 0.47MQ | C6BR1356-******
46 | 40 (100 ( 16 M8x10 |0.5W, 0.47MQ | C6BP3466-****** 38 | 40 | 100 | 16 M8x10 |0.5W, 0.47MQ | C6BR1386-******
51 50 75 18 M8x10 |0.5W, 0.47MQ| C6BP3516-****** 42 45 | 100 | 18 M8x10 |0.5W, 0.47MQ | C6BR1426-******
56 45 | 100 | 18 M8x10 |0.5W, 0.47MQ | C6BP3566-****** 46 45 | 100 | 18 M8x10 |0.5W, 0.47MQ | C6BR1466-******
62 | 45 (100 | 18 M8x10 |1.0W, 0.33MQ| C6BP3626-****** 51 45 | 100 | 18 M8x10 |0.5W, 0.47MQ | C6BR1516-******
68 | 50 (100 ( 18 M8x10 |1.0W, 0.33MQ | C6BP3686-****** 56 [ 50 | 100 | 18 M8x10 |1.0W, 0.33MQ | C6BR1566-******
75 | 50 (100 | 18 M8x10 |1.0W, 0.33MQ| C6BP3756-****** 62 | 50 | 100 | 18 M8x10 |1.0W, 0.33MQ | C6BR1626-******
83 | 50 (100 ( 18 M8x10 |1.0W, 0.33MQ | C6BP3836-****** 68 | 50 | 125 | 18 M8x10 |1.0W, 0.33MQ | C6BR1686-******
91 50 | 125 | 18 M8x10 |1.0W, 0.27MQ| C6BP3916-****** 75 50 | 125 | 18 M8x 10 1.0W, 0.33MQ | C6BR1756-******
100 | 50 | 125 | 18 M8x10 |1.0W, 0.27MQ | C6BP3107-****** 83 50 | 125 | 18 M8x10 |1.0W, 0.27MQ | C6BR1836-******

%3 Note: 1. “-” R/IRBERE. “” =capacitance tolerance code, H=+3%, J=+5%, K=+10%.
2. RRERRRY RINAIERAFIERD “xxx*x%” = Internal use.
. HERE. RYRVTRAAEEFE. Other values and dimensions are available on request.

208




B $MEZRsH Dimensions(mm)

% Note: 1. “-” RIRBRERE.

2. SRR RN IERAHERD .
R &I A PHERE

3. HERE.

“” =capacitance tolerance code, H=13%, J=1+5%, K=+10%.

“rkxkx*? = Internal use.

Other values and dimensions are available on request.

400Vac 480Vac
C.| D H P |Mounting| Discharge Part number C. [ D H P |Mounting| Discharge Part number
(uF) [£2.0(£3.0/+1.0] bolt resistor (uF)|£2.0|%3.0{£1.0|] bolt resistor

4 |40 [ 60 | 16 M8x10 |[0.5W, 0.82MQ | C6BG2405-****** 4 | 40 [ 60 | 16 M8x10 |1.0W, 0.82MQ | C6BS3405-******
5 [ 40 [ 60 | 16 M8x10 |[0.5W, 0.82MQ | C6BG2505-+***** 5 | 40 | 60 | 16 M8x10 |1.0W, 0.82MQ | C6BS3505-******
6 | 40 [ 60 | 16 M8x10 |[0.5W, 0.82MQ | C6BG2605-****** 6 | 40 | 60 | 16 M8x10 |1.0W, 0.82MQ [ C6EBS3605-******
7 | 40 [ 60 | 16 | M8x10 |0.5W, 0.82MQ| C6BG2705-****** 7 | 40 | 60 | 18 | M8x10 |1.0W, 0.82MQ | C6BS3705-******
8 | 40 | 60 | 16 [ M8x10 |0.5W, 0.82MQ| C6BG2805-****** 8 | 45 | 60 | 18 | M8x10 |1.0W, 0.82MQ | C6BS3805-******
9 | 40 | 60 | 18 [ M8x10 |0.5W, 0.82MQ| C6BG2905-****** 9 | 45 [ 60 | 18 | M8x10 |1.0W, 0.82MQ | CBBS3905-******
10 | 45 | 60 | 18 M8x10 |[0.5W, 0.82MQ | C6BG2106-****** 10 | 45 | 60 | 18 M8x10 |1.0W, 0.82MQ | C6BS3106-******
11 | 45 [ 60 | 18 | M8x10 |0.5W, 0.82MQ| C6BG2116-****** 11 | 40 | 75 | 16 | M8x10 |1.0W, 0.82MQ | C6BS3116-******
12 | 45 [ 60 | 16 M8x10 |[0.5W, 0.82MQ | C6BG2126-****** 12 | 45 | 75 | 18 M8x10 |1.0W, 0.82MQ [ C6BS3126-******
13 | 45 [ 60 | 16 | M8x10 |0.5W, 0.82MQ| C6BG2136-****** 13| 45 | 75 | 18 | M8x10 |1.0W, 0.82MQ | C6BS3136-******
15 | 45 [ 75 | 18 | M8x10 |0.5W, 0.82MQ| CB6BG2156-****** 13 | 40 | 100 | 16 | M8x10 |1.0W, 0.82MQ | C6BS3136-******
16 | 45 [ 75 | 18 | M8x10 |0.5W, 0.82MQ| CB6BG2166-****** 15 | 45 | 75 | 18 | M8x10 |1.0W, 0.82MQ | C6BS3156-******
18 | 45 | 75 | 18 M8x10 |[0.5W, 0.82MQ | C6BG2186-****** 16 | 40 | 100 | 18 M8x10 |1.0W, 0.82MQ | C6BS3166-******
20 | 45 | 75 | 18 | M8x10 [0.5W, 0.82MQ| C6BG2206-****** 18 | 45 (100 | 18 | M8x10 |1.0W, 0.82MQ | C6BS3186-******
18 | 40 [ 100 | 16 M8x10 |[0.5W, 0.82MQ | C6BG2186-****** 20 | 45 [ 100 | 18 M8x10 |1.0W, 0.82MQ [ C6BS3206-******
20 | 40 | 100 | 16 | M8x10 [0.5W, 0.82MQ| C6BG2206-****** 22 | 45 | 100 | 18 | M8x10 |1.0W, 0.82MQ | C6BS3226-******
22 [ 50 | 75 | 18 | M8x10 [0.5W, 0.82MQ| C6BG2226-****** 24 | 50 [ 100 [ 18 | M8x10 |1.0W, 0.82MQ | C6BS3246-******
24 [ 50 | 75 | 18 | M8x10 |[0.5W, 0.82MQ| C6BG2246-****** 26 | 50 [ 100 [ 18 | M8x10 |1.0W, 0.82MQ | C6BS3266-******
26 | 45 [ 100 | 18 M8x10 |[0.5W, 0.82MQ | C6BG2266-****** 28 | 50 [ 100 | 18 M8x10 |1.0W, 0.47MQ | C6BS3286-******
28 | 45 | 100 | 18 M8x10 |[0.5W, 0.82MQ | C6BG2286-****** 29 | 50 [ 100 | 18 M8x10 |1.0W, 0.47MQ | C6BS3296-******
29 | 45 [ 100 | 18 M8x10 |[0.5W, 0.82MQ | C6BG2296-****** 30 | 50 [ 100 | 18 M8x10 |1.0W, 0.47MQ [ C6BS3306-******
30 | 45 | 100 | 18 | M8x10 |[1.0W, 0.47TMQ| C6BG2306-****** 32 | 50 | 125 | 18 | M8x10 |1.0W, 0.47MQ | C6BS3326-******
32 [ 50 {100 | 18 | M8x10 [1.0W, 0.47MQ| C6BG2326-****** 35 | 50 [ 125 | 18 | M8x10 |1.0W, 0.47MQ | C6BS3356-******
35 [ 50 {100 | 18 | M8x10 [1.0W, 0.47MQ| C6BG2356-****** 38 | 50 [125 | 18 | M8x10 |1.0W, 0.47MQ | C6BS3386-******
38 | 50 100 | 18 M8x10 |[1.0W, 0.47MQ | C6BG2386-****** 42 | 50 | 125 | 18 M8x10 |1.0W, 0.47MQ | C6BS3426-******
42 | 45 |125| 18 | M8x10 |[1.0W, 0.47TMQ| C6BG2426-****** 46 | 55 | 130 | 20 | M10x12 |1.0W, 0.47TMQ | C6BS3466-******
46 | 50 | 125 | 18 M8x10 |[1.0W, 0.47MQ | C6BG2466-****** 51 | 55 [ 130 [ 20 | M10x12 |2.0W, 0.33MQ | C6BS3516-******
51 | 50 |125| 18 | M8x10 |[1.0W, 0.33MQ| C6BG2516-****** 56 | 60 | 130 | 20 | M12x16 |2.0W, 0.33MQ | C6BS3566-******
56 | 55 | 130 | 20 | M10x12 [1.0W, 0.33MQ| C6BG2566-****** 60 | 60 | 130 | 20 | M12x16 |2.0W, 0.33MQ | C6BS3606-******
62 | 55 | 130 | 20 | M10x12 [1.0W, 0.33MQ| C6BG2626-******

68 | 55 | 130 | 20 | M10x12 [1.0W, 0.33MQ| C6BG2686-******

209




<>

B $MEZRsH Dimensions(mm)

540Vac 600Vac
C.| D H P |Mounting| Discharge Part number C. [ D H P |Mounting| Discharge Part number
(uF) [£2.0(£3.0/+1.0] bolt resistor (uF)|£2.0|%3.0{£1.0|] bolt resistor

4 |40 [ 60 | 16 M8x10 |[1.0W, 0.82MQ | C6BT1405-****** 4 | 40 [ 60 | 16 M8x10 |1.0W, 0.82MQ | C6BU1405-******
5 [ 40 [ 60 | 16 M8x10 |[1.0W, 0.82MQ| CEBT1505-****** 5 | 45 | 60 | 18 M8x10 |1.0W, 0.82MQ | C6BU1505-******
6 | 45 | 60 | 18 M8x10 |[1.0W, 0.82MQ | C6BT1605-****** 6 | 40 | 75 | 16 M8x10 |1.0W, 0.82MQ [ C6BULG05-******
7 |40 75| 16 | M8x10 |1.0W, 0.82MQ| CGBTL705-****** 7 | 40 | 75 | 16 | M8x10 |1.0W, 0.82MQ | CEBU1705-******
8 | 40 [ 75 | 16 [ M8x10 |1.0W, 0.82MQ| C6BT1805-****** 8 | 45 | 75 | 18 | M8x10 (10w, 0.82MQ | C6BU1805-******
9 | 45 | 75 | 18 [ M8x10 |1.0W, 0.82MQ| C6BT1905-****** 9 | 45 | 75 | 18 | M8x10 |1.0W, 0.82MQ | C6BUL90S5-******
10 | 45 | 75 | 18 M8x10 |[1.0W, 0.82MQ | C6BT1106-****** 8 | 40 | 100 | 16 M8x10 |1.0W, 0.82MQ | C6BU1805-******
11 | 45 | 75 | 18 | M8x10 |[1.0W, 0.82MQ| CGBTLLLE-****** 9 | 40 [ 100 | 16 | M8x10 |1.0W, 0.82MQ | C6BULIOS-******
10 | 40 [ 100 | 16 M8x10 |[1.0W, 0.82MQ | C6BT1106-****** 10 | 50 | 75 | 18 M8x10 |1.0W, 0.82MQ [ C6BULL06-******
11 | 40 (100 | 16 | M8x10 |1.0W, 0.82MQ| CGBTL116-****** 11 | 50 | 75 | 18 | M8x10 |1.0W, 0.82MQ | CE6BUL116-******
12 | 50 [ 75 | 18 | M8x10 |1.0W, 0.82MQ| C6BT1126-****** 12 [ 50 | 75 | 18 | M8x10 |1.0W, 0.82MQ | C6BU1126-******
13 | 50 [ 75 | 18 | M8x10 |1.0W, 0.82MQ| C6BT1136-****** 13 [ 45 | 100 | 18 | M8x10 |1.0W, 0.82MQ | C6BUL136-******
15 [ 50 | 75 | 18 M8x10 |[1.0W, 0.82MQ | C6BT1156-****** 15 | 45 | 100 | 18 M8x10 |1.0W, 0.82MQ | C6BU1156-******
16 | 45 (100 | 18 | M8x10 |1.0W, 0.82MQ| C6BTL166-****** 16 | 50 [ 100 | 18 | M8x10 |1.0W, 0.82MQ | C6BUL166-******
18 | 45 | 100 | 18 M8x10 |[1.0W, 0.82MQ | C6BT1186-****** 18 | 50 | 100 | 18 M8x10 |1.0W, 0.82MQ [ C6BU1186-******
20 | 50 | 100 | 18 | M8x10 [1.0W, 0.82MQ| C6BT1206-****** 20 | 45 | 125 | 18 | M8x10 |1.0W, 0.82MQ | C6BU1206-******
22 | 50 {100 | 18 | M8x10 [1.0W, 0.82MQ | C6BT1226-****** 22 | 50 125 [ 18 | M8x10 |1.0W, 0.82MQ | C6BU1226-******
24 | 50 |100| 18 M8x10 |1.0W, 0.82MQ| C6BT1246-****** 24 | 50 (125 18 M8x10 |1.0W, 0.82MQ | C6BU1246-******
26 | 50 [125| 18 M8x10 |[2.0W, 0.47TMQ | C6BT1266-****** 26 | 50 125 | 18 M8x10 |2.0W, 0.47MQ | C6BU1266-******
28 | 50 |125| 18 M8x10 |[2.0W, 0.47MQ| C6BT1286-****** 28 | 55 (130 | 20 | M10x12 |2.0W, 0.47MQ | C6BU1286-******
29 | 50 | 125 | 18 | M8x10 [2.0W, 0.47MQ| C6BT1296-****** 29 | 55 | 130 | 20 | M10x12 |2.0W, 0.47MQ | C6BUL296-******
30 | 50 | 125 | 18 | M8x10 [2.0W, 0.47MQ| C6BT1306-****** 30 | 55 | 130 | 20 | M10x12 |2.0W, 0.47MQ | C6BUL306-******
30 | 55 [ 130 | 20 | M10x12 [2.0W, 0.47MQ | C6BT1306-****** 32 | 55 (130 [ 20 | M10x12 |2.0W, 0.47MQ | C6BU1326-******
32 | 50 [125| 18 M8x10 |2.0W, 0.47MQ| C6BT1326-****** 34 | 60 [ 130 | 20 | M12x16 |2.0W, 0.47MQ | CEBUL346-******
35 | 55 {130 | 20 | M10x12 [2.0W, 0.47MQ| C6BT1356-****** 35 | 60 130 | 20 | M12x16 |2.0W, 0.47MQ | C6BU1356-******
38 | 55 | 130 | 20 | M10x12 [2.0W, 0.47MQ| C6BT1386-****** 36 | 60 | 130 | 20 | M12x16 |2.0W, 0.47MQ | C6BUL366-******
40 | 55 | 130 | 20 | M10x12 [2.0W, 0.47MQ| C6BT1406-****** 40 | 60 | 130 | 20 | M12x16 |2.0W, 0.47MQ | C6BUL406-****+*
46 | 60 | 130 | 20 | M12x16 |[2.0W, 0.33MQ| C6BT1466-******

51 | 60 [ 130 | 20 | M12x16 [2.0W, 0.33MQ | C6BT1516-******

%3 Note: 1. “-” RIRBFEBME. “” =capacitance tolerance code, H=%3%, J=1+5%, K=£10%.
2, CRRRRERY R RPIEBYFAERD “xxxkx*? = Internal use.
. HERE, RIARVTIEAAEERE. Other values and dimensions are available on request.

210




